KENDRIYA VIDYALAYA SANGATHAN, PATNA REGION
SUMMATIVE ASSESMENT -1 2015-16
CLASS X

SOCIAL SCIENCE
(wrrhee fagr)

Time: 3 hours Maximum Marks: 90

General Instruction: \/

. The guestion paper has 30 questions in all. All quest% compulsory

il. Questions from serial number 1 to 8 are short @ uestion and each carries

1 mark. Q
. Questions from serial number 9 to 21 afe marks questions. Answers for

these Questions should not exceec%fr /
iv. Questions from serial number 0 re five marks questions. Answers for

A~
these Questions should not exceed 120 words

v. Question number 30isa Warks.

vi. Attach the filled up m%ﬂor analysis inside your answer book.
T Few-
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(5) T WEN 30 WA wEhhg § S A ofw w1 T
(o) WARTY B SR A SHC G B T A )
}. What is Corn Law?
6 W w7 |
Or
Who was jobber? o~y N
S B u1?

Or

\What was referred to as ‘garden City ‘planned by architect Ebenezer Howard?

e G R TR R ¥ e 82
2. Whatis commercial farming? - 1
=ETET TN S Y T I 82

3. Write one merit of coalition government? 1

2 an example of holding together
r :

5.
5 2
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6. What are the factors that are important for development other than income?@
S & Al A FF A FEF © A G D e sy 8
7. What do you mean by Tertiary sector? @
TS 9 W Y F G 87 .
8. Write any two points about NREGA, 2005? 1
T 2005 & a1 H ®E @ fag o \
| 9. Explain the three types of flows within the internatio;lal economic exchiﬁ es
during 1815-1914? €

1815 ¥ 1914 & TEF fau= i fafs § i waw & 9 €7
| Or
! Why did women workers in Britain attack the spin.ning jenny?
| R @ Hfeen ST 3 fafin S i ® e Wl
Or

Explain any three characteristic of marginal groups in London.

e F TRE ® TR @ feed i faviae w1 s wifE?

Explain the two factors responsible for the great depression in the world in 19297

—30.
3
s F 1020 @ e T @ g A FRUN HT A L2
Or
Why did industrial production in India increase during the First World War?
umﬁm%%éﬂmﬁmﬂﬁﬁmmﬁﬁa@?
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13.

14,

8]

How & the people of all classes entertain themselves in their leisure time in
urban Britain?

off T ¥ WY @ wed @ wied wna N o el fag geR ¥ @ e?

-

1. What is manuscript? Write any three short coming of manuscript? 3

_- ~ = _&.\ 3 r\‘\- = R, e oSyt R
TN R ugEta W el @ o wiha fge?

Qr
Who was the writer of novel Pariksha Guru? Why it was not so popular?

. \-.._,______'___"
WE T/ ITE F oE® B 92 9w SR e aiwfia w1 T gs?

. Explain the factors responsible for the invention of new printing technology? 3

IS FRE § o few T e e ® enfassrl &l S fiEn?
Or
How did novels depict the life of peasants and low castes people? Explain with
example from India?
frg FER YRl © g0 feur qu e ikl @ ste =) ot T 22 vra R

FEEW AR gaId|

Write any three characteristics of black soil? 3
FeAl O & ol oiF favaet @ fa@?
How construction of large dams has become a controversial issue? 3

32 Tl % FEv 7 59 R ¥ e w5 9= i@ 82
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15. What Is Slash and Burn agriculture? Explain its salient features.
387 U HlA wfy g 7 voml e favivensi &) eare w12

16, How are the legislative powers distributed between the union government and

‘ the state government by the constitution? Explain with em__r_)_l_?_- S

AT 510 %% TR A T R % 7 faefn weae) i B s e
TRR B T 22 32 wfed woem|

17. Make difference between overlapping and cross cutting differences. 3
TF T W A qU  wE we fafae @ qe s w0

18. Mention any three constitutional provisions that make India secular state. 3
Forll i Hetenfirr wraEr 1 oo B S avd w wE edfde e T S

19. Inwhat respects is the crite‘rion used by the UNDP for measu ring development is
different from the World Bank? Explain. 3
MWng.ﬁ.ﬁ.mmﬁﬂmaﬁﬁﬁw%%mﬁw%?
TEAT ity

26. Study the data given in the table and answer the question that fo.llow.
Workers in different sectors (In million) 3
SECTOR ORGANISED - UNORGANISED TOTAL
Primary 2. 240 242
Secondary 2] 54 63

ertiary . 17 i de . (o 76 93
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' ; ‘ ople?
a. Which is the most important sector which provides most jobs to peop

b. What is the number of people engaged in the unorganized sector?
c. Why this unorganized sector is more important?

ﬁﬁmﬂmﬁﬁﬂﬁ%@mﬁﬁaﬁq@fﬁmqﬁmwi?
fafi=r Qs & s

s .
i > 240 242 J
feciraes 9 54 - 63 J
SiEc 17 76 93 J
. 398
Eayl 28 370 , 9 j

&. HA " FEaql S 2 < waifee AR A w22
@, eEfsa &% o foad @ uwu{ﬁaﬁ%?
nmﬁ%mn@mﬂ%? |

21. What do you mean by the term Gross Domestic Product? What precautions should

we take in calculating GDP? 3

e wdl  wEee e w0

22. Whatdoyou mean by G-77 countries?_ln what ways tan G-77 be seen a"s;/é reaction

—

to the activities of the Bretton wood twms? ' 5

Gﬁ—77ﬁ?ﬁﬁ3¥ﬂﬂ¥m§ﬁ%mﬁ77ﬁmaﬂwmaﬂ§€ﬁ§wm
) W Fel S gehdl €2
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Or

How did the East Indja Company procure regular supplies of cotton and silk textile

from Indian weavers?
R e A T A i 7 foew w0 @ Frafm oI g 0w
33

Or
Explain the social changes in London which lead to the need for underground
railway. Why was the development of underground railway criticized?
oA § 3 W aad B Y 9 Fs w9 e rEvasd gyl e
o &1 39 fasrg &) Tel= i &l T

23. Why was the vernacular press act passed in 1878? How did this empower the

government to impose this restriction on the press? 5
1878 H efepeR UH TR =i Uika fhar Ta1? 59 TR ¥ 39 TR 3 TR & 1%
R giaerg T il <2

Or

Name two women novelist of early 19" century of Britain. How did both of the
Pl

give a glimpse of the life of women during that period?

I=met 9 & ufie | fafew ofeen ST=erl & 10 fod) vg TR 9§ ==
g9 A Afeenst w Rl #1 o veg e

24, What is land degradation?iDescribe any four measures of controlling Iz
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T Frefsr ¥ 39 = wen ¥2 i e @t 3y @ for e = Sar
FT FUA FL?

25. Write any five reasons for the depletion of forest resources in India. 3

TR H % T S B R ferd?

26. What are the aspects of life in which women are discriminated in India? 5

Wﬁéﬁq_ﬁﬁfwm%ﬁﬁ%ﬁ%m& S foFan 9@ 2, YR B
=4 ¥ foe?

27. How does social division take place in the society? Explain with suitable examples?

~ 5

TS g A R yeR S o £ STgE Sl B SEE
28. Whatis sustainable economic development? Write any three measures to control

environmental degradation. o ' B

mﬁwﬁaaﬁ%ﬁm@mwwﬁ%wmﬁmém
FIE 1 gAE 3

29. Compare the employment condition prevailing organized and unorganized sectors.

shs 5

1x3=3

i}

h appropriate symbols in given maps.

A Types %So'. "
%1 SN
B~ foses pe_yn OF "
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